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© sin 30° + sin 60° = sin 90°

1

tan30° = ——
® tan30 tan 60°

=
c
SR

c



7.

/x = 60° & o, (5 —smx) (1+ tanx) 9] g7

@D -2 @ -1 3 0 @ 1



8.

th2 3} 2ol LA =60°,AC =12, AB =
154 f, BC 2] Zdol&=?

D V21 @ 2v21 @ 321
@ 421  ©® 521

B




9.

o 182 A x- V3y+3=0
o @ zolrt. olu, s o] A7]E

st

@ 30°

@ 40°

B 45°

@ 50°

® 60°



olJ
bSS
olJ
ofig
Ko
olp

oy

o

2
V5

@ sinA - cosA

@ cos A

-2

@ sinA

2
5

@ tanA =2



o] 7717}

90° o}, O @ FEO] Hol&

@ 1 3B 2

3 0



12. sin0° x tan0° —cos 0° 2] ZF-& A, sin90° x cos 90° + tan 0° 2] <
Bt g o, B- A 9] ka9

D -2 2 -1 ® 0 @ 1 B 2



13. g #7% 82 A9 7]

@ sin30° < cos30°
© tan35° > tan40°
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Z\FE‘ sin l cos | tan

25° 10,42 0.90| 0,46

50° 1 0.760.63| 1,19

70°

0.93/0.34|2.74

Tafolat,

cos 50° + cos 25° X sin 50° — tan 25°
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Zte sin cos tan

10° 0,1736 0.9848 0,1763
20° 0.3420 0.9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0,7071 1,0000

50° 0,7660 | 0,6428 1.1918
70° 0,9397 | 0.3420 2.7475

89° 0.9998 0.0175 57.2900
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Zte sin cos tan
10° 0.1736 | 0.9848 | 0.1763
20° 0.3420 | 0.9397 | 0.3640
35° 0.5736 | 0.8192 | 0.7002
45° 0.7071 | 0.7071 | 1.0000
@ 0.6225 @ 0.8112 ® 0.8264

@ 0.8437 3 1.1736
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ZI e sin cos tan
10° 0,1736 0,9848 0,1763
20° 0.3420 | 0,9397 0.3640
35° 0.5736 0.8192 0.7002
45° 0,7071 0,7071 1,0000
50° 0,7660 0.6428 1,1918
70° 0.9397 0.3420 2.7475
89° 0.9998 0.0175 57.2900

sinx = 0.9397

tany = 0.7002

cosz = 0.9848

@D 3 @ 5 3 6 @ 10 B 12




e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355
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Zte sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1,4281

56° 0.8290 0.5592 1.4826
D 5.592 @ 8.29 ® 13.882
@ 923.882 3 29.107



